
?= xhf/

l;=g+= kz' -cWoIf_ /sd

1 ufpFkflnsf e/L /]lah vf]k lgMz'Ns ;+rfng ug{ 100

2 s[ltd uj{wf/0fsf] nflu l;d]g / t/n gfO6«f]hg vl/b ug{ 100

3 kz' cf}ifwL vl/b ug{ 500

4
uf=kf= e/L kz'k+IfLjf6 dflg;df / dflg;jf6 kz'k+IfLdf nfug] /f]u -h'gf]6Ls /fu_ 

;DjGwL r]tgfd'ns xf]l8ª af]8{ h8fg 100

5 uf=kf= e/L df5f, df;' / c08fjf6 dflg;df x'g] k/lhjL lgoGq0f ;DjgwL xf]l8ª af]8{ 100

6 uf=kf= e/L ufO{ ef};L afv|fx?df vf]k ;+rfng 200

7 uf=kf= e/L kz'k+IfL tyf afnL ;DjGwL ljdf tflnd 200

8 uf=kf= e/Lsf ls;fgx?nfO{ kz'kfng tyf 3fF; v]tL ;DjGwL tflndsf] nflu 200

-pkfWoIf_

9 uf=kf= e/L kz'k+IfLdf nfug] a8{kmn" /f]usf] ;j]{If0f tyf lgoGq0f sfo{qmd ;~rfng 100

10
uf=kf= e/L :jR5 df5f, df;' / c08f ljqmL ljt/0f cg'udg tyf ;j]{If0f sfo{qmd 

;+rfng ug{ 100

11
uf=kf= e/L ufO{, e};Ldf x'g] afFemf]kg lgoGq0f tyf pkrf/sf] nflu lzlj/ ;+rfng ug{

100

12 k'zkfns ls;fgx?sf] e|d0fsf] nflu 200

13 kz'kfns ls;fgx?nfO{ ljleGg lsl;dsf] kz' /f]u lgoGq0f ;DjGwL tflnd 300
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     kz' tkm{sf of]hgfx?

s'n hDdf


